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1 38 BA fl 156GTA/3. 2 1=t 156GTA (&) 1 + 1 x 0.8 =1.8
2 45 g {Ez 147GTA/3. 2 CLR*x/NLUBEIEEX147Ths 2 + 2 x0.8 =3.6
3 46 Bl %R 147GTA/3. 2 PX-eng147GTA 3 + 3 x0.8 =54
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1 78 Bk BT 156V6/2.5 Compe156 M&N 1 + 1 x0.8 =1.8
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2 80 ki &E 1750GTV/2.0 imozze1750GTV 2 + 2 x0.8 =3.6
R300
BAIER HE K5 A /\— ETIL BHA @lE  QliE EEHIER =
1 203 EE B¥ S7/3.0 M hUSZ 1 + 1 x0.8 =1.8
2 202 ERK RE Renault Clio  RADETF (T M smdF 2 + 2 x0.8 =3.6
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1 131 aH = 147-sele/2.0 A WM147Y &FVY- 1 + 1 x0.38 =1.8
2 86 #E X— 147TS-sele Scuderiati+iE 2 + 2 x0.8 =3.6
3 10 A b 156TS-sele XENS0156 3 + 3 x0.8 =54
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3 101 i =— 1567S/2.0 15634 bn" Y 3 + 3 x0.8 =514
81 e FE 1471S5/2.0 SFIDA147 - - -
AR150-4
HWBEIERE EF KSA/8— ETIL HA Dl @B SEHIEfRL =
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